


 

 

Pag. 8 

GRUPPO SQUADRA SX 

POS.  CODICE  DENOMINAZIONE  Q. TA’ 

1  00000147   DADO AUTOBLOCCANTE M12 UNI‐7473 ZINC.  1 

2  00003109   VOLANTINO BOTECO 4 LOBI G73230.TM08x2001  2 

3  00003113   BOTECO VOLANTINO F664045.TM08x2001 OTTONE  2 

4  00003304   SEEGER E17  1 

5  00003379   ANELLO ELASTICO ARRESTO UNI7433‐A‐20  2 

6  00003455   CUSCINETTO INA AXK1730  1 

7  00003456   ANELLO INA AS 1730  2 

8  00003457   INA GABBIA RULLINI AXK 12  2 

9  00003469   INA ANELLO LS 1226  4 

10  00003940   MANICOTTO BOTECO 775‐38 M12  1 

11  00004061   CONTATORE VO‐DX‐2,5 AR F 14  1 

12  00017995   VITE VTSTEI M10x16 PP  2 

13  00018318   VITE TCEI M 6X30 UNI 5931 ZINC.  1 

14  00018521   RONDELLA PIANA Ø8 UNI‐6592 ZINC.  2 

15  00018590   RONDELLA M20 UNI 6592 ZINC.  1 

16  00018703   VITE TSPEI M8x20 UNI5933_Z  2 

17  00019106   BOCCOLA‐PAP‐2030‐P10  4 

18  00160004   VITE STEI M4 x 8 PP ZINC UNI‐5923  1 

19  00160010   VTSTEI M6x8 PC zinc  2 

20  36003306   SUPPORTO SQUADRA  1 

21  36003307   SQUADRA  1 

22  36003320   ELESA VOLANTINO 65635  1 

23  36030304   STELO SQUADRA  2 

24  36030305   STELO CENTRAGGIO  1 

25  36030307   TIRANTE  1 

26  36030308   BLOCCAGGIO  1 

27  36030309   PRIGIONIERO MANIGLIA  1 

28  36030310   VITE SQUADRA  1 

29  36030313   BOCCOLA  1 

30  36205125   ADESIVO SQUADRA SX  1 

31  36205311   TASSELLO ASTE  1 

32  38509273   BOCCOLA_RIDUZIONE  1 

gianninidavide
Rettangolo

gianninidavide
Rettangolo

gianninidavide
Rettangolo


